16.5 16.§ 16.7 16.8 16.9\'_3__‘

16.30 16.31

ilii 16.3216.33
“

18
19

11.1 | au1. nBUTaATENH 1
11.2 | mectepHs apurareins z=12 1
12 IlepekmrouaTenn 1
13 BcraBka BepxHss 1 16.19 | maiiba 1
14 Haknazaxka neBas 1 @BayT. =31; OBH. =39
Texmﬁiiﬁ?’zﬁgemop 15 [ Honypyuka nepas 1 1620 | npysuna (36,6x19.7x2.6) | 1
16 | Penykrop B cbope 1 16.21 | BTynka pe3pOoBas 1
16.1 | duanen 1 16.22 | BTyJKa PEryJaupOBKH 1
‘?ﬁ)}ﬁ?HKOB O.A. 16.2 | maiiba 1 16.23 | duxcarop 1
—_— : JBHyT. =16; JBH. =381 16.24 | Brynxa 3y6uaTas 1
16.3 | Brynka 3yOuaTas y3kas 1 16.25 | sunT 3,5x16 camopes 2
o3 HaumenoBanmue K. 16.4 | Brynka 3ybuaras MIMpoOKas 1 16.26 | mnuuzgens B cbope 1
1 Haxksaaka npaBas 1 16.5 | mecTepeHKa y3Kas 3 16.27 | Bryaka 1
2 Ionypyuka npasas 1 Zeu.=11,8, z=15, h=5 16.28 | BTynKa HEHTpUPYIOIIAst 1
3 Bunr 3x14 camopes 9 16.6 | koseco 3ybuaTtoe 1 16.29 | BTynKa OrpaHUYMTENIbHAS 1
4 | Batapes 1 16.7 | wecrepenka manas 3 16.30 | npyxwunxa (3,9x15x0,4) 3
AKKYMYJISTOpHAast Bu.=8, 7z=9, h=5 16.31 | nmactiHa 1
5 | BeraBka HiKHSs 1 16.8 | mecrepus z=12 1 16.32 | Buat M3x30 3
6 | Maruur 1 16.9 | xopmye 1 16.33 | mraiiGa 3 npykuHHAs 3
7 PeMmemok 1 16.10 BUHT 3x12 camopes 4 17 Bunt M3x6 2
8 | KonrakrHoe ycrpoiicto | 1 16.11 | npyxuna 1 18 [Tatpon 1
9 | Bexsmrouatens B cbope 1 16.12 | waiiba 1 19 | Bunr M5x25 1
9.1 | mzonsrop 1 @BHYT. =16; JBH. =38, 1 ¢ J1eBoii pe3pboil
9.2 | Tpan3ucTop 1 16.13 | BTynka 3yOuaras 1 20 3apsiHOE YCTPOKICTBO C 1
9.3 | raiika M3 1 16.14 | mecrepenka 3 010KOM TIHTaHHUS
9.4 | Bunt M3x6 (moraii) 1 Zu=11,8, z=15, h=8,44 21 Knasuma pesepca 1
9.5 | pammarop 1 16.15 | prynxa 3ybuaras 1
9.6 | BBIKIIOYATEND 1 16.16 | oce @1,5 nmma 27,75 Umxenep TnaBHbI#A
10 | Ilnara noaCcBETKH 1 16.17 | xopmyc peaykropa 1 TEXHOJIOT KoHcTpykTop
11 | Dnexrpuyeckuit 1 16.18 | mapuk &5 12 Koznos ILA. Ilerpos B.I'.
JIBUTATEIb B cOOpe




	Схема сборки дрели ручной электрической аккумуляторной ДЭА-18А-02

